Question Paper Title : FG_02

Date of Exam : 09-06-2019 02:30 PM

Reference ID:(16885) 5/20 +1.5-5/25="7

A.2.975

B.1.55

C.1.45

D.2.7

Answer: B.1.55

Reference 1D:(29870) Pick the right antonym for the word:
Ethical

A.Immoral
B.Decent
C.Honest

D.Religious

Answer: A.Immoral

Reference ID:(20711) WWO=4 WHAT=16,SHE=9,&AWASH=__?



A.16
B.8
C.15

D.20

Answer: A.16

Reference ID:(31401) DI TG U Hig- X1 3 Ted Sid?

AT 30T SIS
B.HRd 3101 A4

C.HRd 30T "HAR
D.HRd 3107 UTfch &

Answer: B.HRd 30T T

Reference ID:(23935) Treitada! fasgrf s gt St e,

ATRTC x It
B.BIPR x THR

C AMeIR® x dafade®

D. 3UETHT x G{EI&ITCEW

Answer: AT x SId]

Reference ID:(25443) ARG TR SRUI=AT TR ISaidT / HERNRId UGRIar @reiaud! g
IRl Y PHIUAT?



A.U.STE > ToRId > 3{GHH 9 FPEaR

B. 0. > ISR > ToRTd

C.I[oRTd > U.§7el > 3{GHM g HbIaR

D. 3SR > ToRTd > Y&

Answer: AU > TORId > 3{GHM d HdlaR

Reference 1D:(18990) JTATd YeaTal AN / JHNY TDHR 3.
BICEK]

A FHYRT

B.9gdgdlle
C.ddey
D. 3T

Answer: B.FIBEE@'%

Reference 1D:(29135) Pick the right meaning of the highlighted word in the sentence:
When my captious teacher gave me marks on my essay, she found only minor
errors in my work.

A.A person who is hard to please
B.A person who is undemanding and easy going
C.A charitable kind of person

D.A selfish kind of person

Answer: A.A person who is hard to please



Reference 1D:(25450) e fies A “dxe grey ghidrol WU U9 3gdrd a4 d YgiaRur HATed HRd
IRHRAT HgT e Hal?

A.2009

B.2000

C.2011

D.2015

Answer: C.2011

Reference 1D:(19244) "USd YU g 3T} Wreiiate! g areER e,

A TR TSad a9k Iaul

B. U3 g1 AN 90l

C.SIRSIRTd T80

D.gehd HIU YTl

Answer: D.@ﬁ H1Y Yol

Reference 1D:(20965) HTfeibadrd RBTHI ST +RT: A, E,_,0,U, O, I, E
A.E
B.A

C.



Answer:

Reference ID:(16504)

Answer:

Reference 1D:(29362)

Answer:

Reference 1D:(29616)

D.U

C.

T ST faH1d, A1%, 3f-ded, -1, TaH 0T fRIS § G I UhAdbidhs die
YA ATeY. 81 8T RIS Srdidhe gu=aT shHidhIaR 3MTg. U=l ISR S¥atal
3T BT ST HUNIAG 3MTg. TT% 81 fhioredt TSR 31T, Ta Sf0r St STt
JEAEGA HedFaR Tl fEDHTuf S SR HIuT S&cier?

A3 ST oA
B.fthIST 31fUT faH1g
C.3f=0a 3foT A%
MENRECIEIHHEI]

A 35T 37T foAra

Pick the right meaning of the highlighted word in the sentence:
Because she is so obstinate, my niece often ends up eating dinner alone in her
room.

A.to be puzzled about something
B.to be untruthful about something
C.stubbornly refusing to change one's opinion or action

D.to be overtly attachment to something

C.stubbornly refusing to change one's opinion or action

Pick the right meaning of the highlighted word in the sentence:
Vasu gave a stupendous performance of his acting skills.



A.Something of little importance
B.Something that is amazing
C.Something very boring

D.Something terrible

Answer: B.Something that is amazing

Reference 1D:(23681) G T Yeard faeadf qreg sfiesw.

AR

C.4duilg

D.3I&

Answer: B.§TTT[

Reference ID:(18482) 3T qufuft S Telt. a1 aTaRTdie UanT Sies.

A RTH] HHUIT
B.GHTUA HHUlT
C.H1d

D. 3% HD Pkl

Answer: B.gHIU- HHUT



Reference 1D:(29643) Pick the Synonym for the word:
proclaim

A.Announce
B.Secrecy
C.Humble

D.Untrue

Answer: A.Announce

Reference 1D:(29108) Fill in the blanks using the right form of simple present or present
continuous tense: Why a coat this morning? | never ___ one till October.

C.Have you worn.......... will wear

D.Are you wearing.......... wore

Answer: A.Are you wearing.......... wear

Reference 1D:(25449) HERIYTI Ufge! a=aoild SIHIRUY 3Ru¢ HEl DIV ool RITAH STel?
A ATRIS
B. PR
C.3gHqIR

D . gaaToT



Answer:

Reference |1D:(25444)

Answer:

Reference 1D:(31149)

Answer:

Reference 1D:(23908)

YR YRRUfAD 1 fasiTe SHep BIvT 3182
A 3RS fan

B.3. 3hd

C.8l. 3MRATd

D.SI. WA

A3R. Sty

T At T 3T Urdd.

B.8RER
C . HIABIT

D.3{HRA™Y

ATRTET

Gt fasgrdf Teat RISR S 3iesdn

A fat x sirota

B.3UPR x UPR




C.H® x H

D.UHH x T

Answer: B.3UDR x HUDR

Reference ID:(17647) 42 A7 1/12 + 2541 30% + 0.25 x 150 =

A.50
B.50.5
C.47.75

D.48.5

Answer: D.48.5

Reference ID:(17393) 9.75+5.95 + 3.75- (9.55-3.95-3.75) = ___
A17.25
B.17.15

C.A17.75

D.17.60

Answer: D.17.60

Reference 1D:(30632) Convert the following active to passive voice: Mother made a cake yesterday



A.A cake is being made by mother yesterday
B.A cake is made by mother yesterday
C.A cake made by mother yesterday

D.A cake was made by mother yesterday

Answer: D.A cake was made by mother yesterday

Reference 1D:(31402) "HEX SR DIV WSTRN Jafdd 3Mg?

Afspdbe
B. W1 1
C .7l
D& ¢t

Answer: Aﬁ’ﬁv—d

Reference 1D:(29897) Pick the right antonym for the word:
efficacious

A.Incompetent
B.Effective
C.Fruitful

D.Productive

Answer: A.Incompetent

Reference 1D:(30859) Convert the following active to passive voice: She wrote a poetry on the sunrise



A.A poetry on the sunrise has been written by her
B.A poetry on the sunrise will be written by her
C.A poetry on the sunrise is being written by her

D.A poetry on the sunrise had been written by her

Answer: A.A poetry on the sunrise has been written by her
Reference 1D:(20738) WR AB=510,SANG=9557035,dRFRIES=__ ?
A.309045595

B.3090452595

C.6189519

D.699510

Answer: B.3090452595

Reference 1D:(20457) X 3 gferor qd fexien dis 3R, df 45 3/ SIdihs goodl. F dl 135 3/ Ieidids
go&dl. Wl 180 3 Tosal. HIT dl 90 3T ITdIh s goadl. Vdct dl SAIb S 45 3T
g, 37T dl DIV G-I dis e IHT 3MTe?

ATfgH

B.Gfafor

cgd

D.3M

Answer: CE&‘



Reference 1D:(27865) Pick the correct meaning of the highlighted idiom or phrase from the following:
After the fight, my sister and | kept each other at
arm’s length

A.To keep at a distance
B.Being bitterly hostile with each other
C.Disagreeing with something or someone

D.To get even closer with someone

Answer: A.To keep at a distance

Reference 1D:(31404) "3RI FTS" B DIVl SATGARN Hafeid I 3R

ATS Troft
B.dIge
c.gy

D.Xad

Answer: c.q¥

Reference 1D:(34929) oIX CBE x 9 = 1926
DCF x 2 =650
dXEDGx1="7

A.364
B.436
C.634

D.643

Answer: B.436



Reference 1D:(28373) Find the meaning of the word:: Ergo

A.lrrespective
B.Unacceptable
C.Therefore

D.Unsuitable

Answer: C.Therefore

Reference 1D:(32439) FARICS A= SR [GEAs] = S faendf feae "o .. RIE]]
qTefeay Tf¥d el 313.

A ST, TUIS 3fsgd Hard
B.ST. Taucdi AUTHUMH

R CIRGIRERS

DI . 3

Answer: A Sl TUS 3fegd ™

Reference 1D:(27003) Select the correct passive voice form of the sentence: Sunil wrote an article about
our play.
A.Sunil writes articles about plays
B.Sunil will write an article about our play
C.An article about our play was written by Sunil

D.Article writing about our play is being done by Sunil

Answer: C.An article about our play was written by Sunil



Reference ID:(16858) SR @ 318 "HFTIHR' 3M1fOT $ 3] TUNHR’, TR Wieitede! Jatd A1 gafg ST 3mg?

A.24@5
B.1.5$2.5
C.29@4

D.3%2.5

Answer: D.3$2.5

Reference 1D:(24416) WA ATHRUTAT eV &g aradral ugig Hast,

AT dedt HRATd Higelid 9T §ld.

B.H a3 Tt Jvgr a1 fae.

C. 9% TBIUGrTSt HF dheddre TR -Tg!.
DAl YA fSibeTaR Sfria e,

Answer: D X1 IR iherar TS ATl

Reference 1D:(31403) DIV e YRAE GRS IAd AT WU 3Nesdd Sid?

A.3gHaldlq

ER:CH
C.PIABI

D.dTE

Answer: C.DIABIT



Reference 1D:(22817) SR $ 31Tg '+ 3N @ 3R '—, TR Wi Jafd de Taf HIurdT Mg ?

A15$22 @ 65$42$62@ 103 $45$ 27
B18$17@25$32@26$ 104 @ 44 @ 37
C19$12@ 165$42$36$103$45% 17

D.38$107 @25 @32 @26$ 104 @ 44 @ 37

Answer: B.18$17@25%$32@ 26 $ 104 @ 44 @ 37

Reference 1D:(28146) Find the meaning of the highlighted word in the sentence: His interest in
photography is a fad.

A.Infatuation

B.Standard
C.Tradition
D.Custom
Answer: A.Infatuation
Reference 1D:(27638) Pick the correct meaning of the highlighted idiom or phrase from the following:

The thieves broke into the house this morning and ran
away with all the valuables.

A.To enter forcibly

B.To end or discontinue

C.To train or discipline

D.To stop functioning



Answer: A.To enter forcibly

Reference 1D:(30351) Find the meaning of the highlighted word in the sentence: He raised his eyebrows
in mock disbelief.

A.Natural
B.Genuine

C.Fake

D.Real

Answer: C.Fake

Reference ID:(17874) X BTY &9 150% = HIaT 3Tg. T Y 8T X § % TEM 3TG.

A.60
B.50
C.66.66

D.12.5

Answer: A.60

Reference I1D:(27357) Identify the figure of speech in the following sentence: She is as thin as a rake.

A.Apostrophe
B.Hyperbole
C.Metaphor

D.Simile



Answer: D.Simile

Reference D:(23427) QAR T e FHHT Weg 3.
AX@

B

D.XF

Answer: B.XA

Reference 1D:(29389) Pick the right meaning of the highlighted word in the sentence:
They were all committed to the doctrine of equality

A.Feeling faint about something
B.Being unlawful about something
C.Abiding to a principal

D.Avoiding something

Answer: C.Abiding to a principal
Reference 1D:(28854) Pick the right idiom which fits into the sentence: Oh, don’t mention the fight they had
many months back; Let

A.Take to task

B.Take a leaf out of one’s book



Answer:

Reference 1D:(27030)

Answer:

Reference 1D:(19498)

Answer:

Reference 1D:(22589)

C.Sleeping dogs lie

D.Dances to your own tune

C.Sleeping dogs lie

Find the word opposite in meaning to the word: Trim

A.Cut
B.Fat
C.Encourage

D.Pick up

B.Fat

Jeid 1801 QU HRUgMTe! arg uaig fAaer. a it e d ............

A ST 4
B.Ude
C.xaut fed

D.3$® o

c. Tt fed

SR § 3MMg '+ 3N @ 3R '—', TR Wi Faid HIST Uarg HIuTar 3018 ?

A118$17@25$32@ 126 $ 104 @ 44 @ 37
B.79$42$165$42$36 @ 103$45% 17

C38@107@25@32@26%$104%144 @7



DA25@62@35$74$ 102 @ 93 $ 45 $ 37

Answer: B.79%$42%$165%$42%$36 @ 103$45% 17

Reference ID:(17139) 975+28+3.25-(275+35-475+05)=__

A.13.8

B.13.35

C.13.25

D.13.85

Answer: A.13.8

Reference 1D:(17620) 151 1/6 + 44 =41 25% + 0.30 x 180 =

A.69
B.67.5
C.69.5

D.66.75

Answer: B.67.5

Reference 1D:(27611) Identify the figure of speech in the following sentence: I've told you a thousand
times not to do that!

A.Euphemism



B.Apostrophe
C.Personification

D.Hyperbole

Answer: D.Hyperbole

Reference ID:(25442) IR HIRTEIST DIV STARRISIY HHeT / SR BT Hd?

A TG AFHY GATaRU i

B.gA%h]
C.3Ma.g.4l.uA

D. PSR Y SeXIAd

Answer: B.W

Reference 1D:(19217) TR IO, T AR 31 HIorar?
A.dRT Grsul
B.aRT 3{TedTaR g S0t
C.gol& dxul

D IIRA AidTe fhor

Answer: C.E:';?f&‘faﬂlﬁ
Reference 1D:(21473) SRA=1,B=2,..M=13; 3TN =13,0=12, ... Z= 1, TR TTAd Jb! HIUII
Jg1g SRR ]2

A{B+A+R}>{C+A+R}



B{B+A+R}={C+A+R}
C{B+A+R}<{C+A+R}

D{B+A+R}={D+0+G}

Answer: C{B+A+R}<{C+A+R}

Reference 1D:(31150) ss Scra =t [Afd ... gRT Pelt 9.

B.UlacR 3iE T d

C. 919 & W=

D.Yfdhe SAHIR

Answer: D.?{I C a-lchli-li

Reference 1D:(20992) Trfeidbatel RepTH SR 4RT: 3,9, 45, 93

A.23
B.22
C.21

D.24

Answer: C.21



Reference D:(32442) YRAKITS Tald A181 9l 7S & T YERId HTeeSd!.

A gHITET
B.ddIT

C.IRAIY
D. I

Answer: B.ddiT

Reference 1D:(20203) X o Uf3H fARIeT dis 3iTe. <l 45 3R ISTdldhs desdl. HI dl 180 3T a&ddl. W dl 45
3T STdidhs I dl. ac! dl SAIhS 45 3R gadl. 37T dl HIUTAT SR dig B
JHT 37787

AITR Jd
B.&f&rT gd
C.3R ufgH
D.afémr ufgm

Answer: A3 tlﬁ

Reference 1D:(35156) GTelt feciean Tt 3 U YA 3MTed ST 1 fe 3118, PHIordr U< fia d 3ieswan?

A.RIT Adityapur

Hostel k nit

Jharkhand, jamshedpur
PH 0087654992

B.RIT Adityapur

Hostel k nit

Jharkhend, jamshedpur
PH 0087654992



C.RIT Adityapur

Hostel k nit

Jharkhand, jamshedpur
PH 0087654992

D.RIT Adityapur

Hostel k nit

Jharkhand, jamshedpur
PH 0087654992

Answer: B.RIT Adityapur
Hostel k nit
Jharkhend, jamshedpur
PH 0087654992

Reference 1D:(30886) Identify the figure of speech in the following sentence: We will use the plastic
glasses for the children’s parties.

A.Euphemism
B.Metaphor
C.Oxymoron

D.Simile

Answer: C.Oxymoron

Reference 1D:(24443) gTdd a1aaTd RepTH SR YUy gafd I1g Weg fAasT.
Hof bSUaN SHY SUIRT &I ... 3.

A feares@R
B.ATHYRI
C.U&DPR

D JRTHR

Answer: INECICICIES



Reference 1D:(25446) HRATd g-Ioid WRef0T faH Hiorar auf Hruard sie?

A.1927
B.1972
C.1988

D.1947

Answer: B.1972

Reference ID:(19725) "Qle! gel a1 UREl el T WUl &1 Fdd gld?
NG EE )

B. g™

C.dredrEn 1d

D. TR0

Answer: ATeHYg

Reference ID:(25448) 31, .U (IUCN)TH ot aret 3R

A IR UG a1t
BTPTI I 30T SfHaRUaTH ardl

C . IhcURd Toiiai=a] USiTar! arct
D URFRUfAH T eFar Haea=itd Srfae uRERI=! ardt




Answer: C.IhcId goilgiaar USITd it argt

Reference 1D:(20484) WRC+A+T=24 M+A+C+E=22, RH+U+R+R+Y=__ ?

A.90
B.93
C.92

D.91

Answer: A.90

Reference ID:(25405) JSIHH 7 el WalTaud! arg deft faug s,
ATS + 91
B.gg + 3(yH
C.J<T + 3H

D.9 + YA

Answer: D.dx + SII3H

Reference 1D:(24189) WU STHRUMA T8 3MRG Xeq-aG AT e BT,

A &R
B.3=Jc



Answer:

Reference 1D:(18228)

Answer:

Reference 1D:(18455)

Answer:

Reference 1D:(25447)

C.3gT
D.3dI8

D.3dI8

fgxd fexd R mier)|
gRAquITeT TRaHTei)|

&1 STehd 1T YURIE HTATd DIV g dIiR 3HTe?

A3THTT
B.37idt
C.YSTyaTd
D.UrcTg e

PRV IHESNED

fEGRIM B Ueh ST 311 T A YA Adh! 7T

R S pad AT Tohd pad aied SIaTaaT SR WUt HIordl uaig
Y BYA?

A fEgRIT 81 U 31 3112 311Or a1 =M Yo Raept e
B.fEg®IM 8T T a1 o 316,

C.RgRIT 81 T& <1 318 TUT AT <=1 P Q! dTerd.
D.fEGRIT BT Sl < 3{Te T SRIT RUcfep! dTerdl.

B.fEgRIM 81 7= Tl o 31Tg.

YRATET AP Y0NS QA 1T @TeAieiih! HIvT 3Hlg?



A TR eI
B.UART i
C.URT faran
D.UIRT UgH

Answer: A.TmT[ R

Reference 1D:(16531) 90 A1 20% - 16/20 + 1.25 =
A.18.95
B.18.45
C.18.2

D.18.85

Answer: B.18.45

Reference 1D:(18201) U1 8Td BTN el aToTd &1 TIB1? aRid ardTaid SHAdR 3ol

A. SR
B. YA
C.fid
BRSHEIC|

Answer: A SR



Reference 1D:(21246) SR WHIZZBANGS T XleG ZIHWZBSGNA 38d, dR KICKBOXING 8T Xsq

3.

AXINGBOKCIK
B.KICKOBXING
C.KCIKBOGNIX

D.KCIKOBXING

Answer: C.KCIKBOGNIX

Reference 1D:(18736) ST aroft T 3. T AT Picd IS,

A STYT YDTs
B.3{qUl HddbTed
C 3t Ydpres
D.qUf Yd®hTes

Answer: C 3t Ydpres

Reference 1D:(30124) Find the word opposite in meaning to the word: Indict

A.Accuse
B.Acquit
C.Charge

D.Defame

Answer: B.Acquit



Reference 1D:(32443) TEIR IS B i & 19 311G

A GTH! fadeHg

B.XHGW IRHGY

C XTSIT XH Hig4 ™
D3R 35 IR

Answer: B.XHP W IRHAGY

Reference 1D:(24697) Jeid AecaggIal Iy Teg fAasT.
IS YIST SRcial

Answer: B.&IFCITQQDT

Reference ID:(32438) HRATIA DIV GRATR HUH TYH 35T Hal UG el gial?

AT3REA
B.T3RIA
OARIBE
D.THEITTd

Answer: D.erélQ:lQFI



Reference 1D:(33694) TS d Hal ST Siavid 3-d (Iaaed 9) fadaed wef any e

A1 TUd 2018
B.1 TS 2017

C.1 32018

D.1 82017

Answer: A.1 E@F‘[ 2018

Reference 1D:(31407) ¢dg BSUIdNY IieaTgdl HERTYT G&IH=T B0 gid?

A GRS FegTul
B.3MRNd AU
C foamRTa SxngE

D.RRq YdR

Answer: A QRIS G0l



Reference 1D:(31113)

Answer:

Reference 1D:(24924)

.LJ /

HERTSCICE AT avre gofacen fSoer @relerddr @rorar 3He?

A. 3BT

B.3gHGTR

C. 3 RIad!

D.3RTETe

B.3gHGTR

Jeid Mea N3] Iy Tsg fHdsT.
dISTaR Tl HRugrET 07




Answer: B.diSgsuun

Reference 1D:(22235) Wrefieiten! gafd HIST UTig HIvrdr 318 2

A25-22-35+72+102-83 +45+ 27
B.48-17-25+32-126+104 + 44 + 71
C19+12-15+42+36-103 + 45 + 107

D44 +67-25-32-26+104-44-13

Answer: C19+12-15+42+36-103 + 45+ 107

Reference ID:(25178) qaied g1 Yearal Wiaiauet arg deft faurg s,
AE + 3T

B +3d
C.‘v'[ﬁf: +3ad

DY + 3Hcd

Answer: A.ﬁ[if +3ad

Reference 1D:(31406) mﬂﬁwﬁaﬁwwmwmwﬂmm
?

A.3T5G 356



B.3Jwa 14
C.3 =g 109
D.3[J=9G 359

Answer: A.@Iﬂ@?{ 356

Reference ID:(25445) YRATHA e QR el 3rHaRug Fieitertes! sioTe IsaTd 3Tg?

INCTICS

B.gfamm

C IO
D ®AlcHh

Answer: B.BﬁTITUﬂ

Reference 1D:(21500) WA=1,B=2C=3, .. Z=26 &R Gd Ub! S YT SRR 3MMg?

A{B+0+Y}={C+A+T)
BB+O0+Y}<{C+A+T)
C{B+0+Y}>{C+A+T)

D{C+A+T}={J+0+Y}

Answer: C{B+O+Y}>{C+A+T}



Reference 1D:(32440) JHx fasm =it (Q:[31T€[3ﬁ) (National Institute of Oceanography) o Hy ...
Y Y 3.

AT
B.3ffgEm
C.3{fgy uew

D. D

Answer: A.ThTJIT

Reference 1D:(32444) feeiidiel et gre T FHfUd 3%

ARTSNG el
B S et
C.HeTe il

SCIRGINERS

Answer: C.HeldHI Trieft

Reference 1D:(30605) Pick the correct meaning of the highlighted idiom: | am ready to go through fire and
water for you.

A.Work closely with someone
B.Be ready to take on more responsibility
C.Stay honest with someone

D.Go through any difficulty



Answer:

Reference 1D:(32441)

Answer:

Reference 1D:(28881)

Answer:

Reference 1D:(27892)

D.Go through any difficulty

ENCEl| EICEEIS

AATTIS
B.fsiRy

C. AR
D.HYTad

B.fgH

Supply the correct tense of the verb in the sentence: The

tomatoes __ when they were ripe. Amla ___ them for cooking.
A.Were picked.......... needed

B.Was picked.......... will need

C.Were picked.......... need

D.Was picked.......... needed

A.Were picked.......... needed

Pick the correct meaning of the highlighted idiom or phrase from the following:
He has joined the army of his own accord.

A.Without being forced
B.With everyone’s consent
C.On being forced to do something

D.Act without thinking



Answer: A.Without being forced

Reference 1D:(32446) ATREI IS I § RIS I WULTR! s S,

AIMTHUI 8T8
B.TY. 3R, 9IS

C Toig el
D.gfcxy et

Answer: C.XToilq Tieft

Reference 1D:(21219) SR TOMATO & Fs& AOOMTT 3 3101 BOWEL 8T s EOBLW 31d, TR
HAZZAN & Jsq 3.

A.AAHNZZ
B.ZZAAHN
C.ZZNHAA

D.NHZZAA

Answer: A.AAHNZZ

Reference ID:(17366) 3.25+255+475-(3.5+10-25+4)

A.-4.25



B.-4.10
C.-4.45

D.-4.65

Answer: C.-4.45

Reference 1D:(23654) Tretads! AR ear ot St e

A4S - gare
B.TTgUT - 3fadt
C.HM - Hed

Answer: D.dGuY - Hig

Reference D:(20230) Udh HTUH IrAT IRIIRIH IR fa=H 8 fob 1Y, <rerdl.
T dl S1dids doadl 30T 3 fos At ATerdl.
W @ Ioidihs dadd! 31T 1 fob. A, arerdl.
T dl Iodihs gaddl 3T 2 fop. =Y. arerdl.
T Al Iolaihs gaddl 3T 4 o5, =Y. arerdl.
T dl S1dids doadl 30T 1 T At ITerdl.

A AT TRIIH et g 3R?

A.4 fo 1.
B.5 fob .
C.4.5fd .
D.5. 5 f& .



Answer: B.5 fo ot

Reference ID:(31405) QEIeUd! BV S AFYHT HRATAT GaueTet fge BN HaH Hd?

ADdH 77
B.hcH 76
C.hH 75

D.®dH 74

Answer: C.hAdH 75

Reference 1D:(28400) Find the meaning of the word:: glutton

A.surprised
B.fasting
C.hog

D.shopper

Answer: C.hog

Reference 1D:(19979) "YU TT ReqTaT THMT e 3.
Aferars
B.3{AYlG

C.HWH



Answer:

Reference 1D:(25441)

Answer:

Reference 1D:(28119)

Answer:

Reference 1D:(24670)

Afers

diaRie aTareaRUNd SR I THI0T fohlt caeh 31?2

A.0.004
B.0.04
C.0.83

D.0.93

D.0.93

Find the word opposite in meaning to the word: Caliber

A.Competence
B.Ability
C.Weakness

D.Talent

C.Weakness

gYTTe areTd RBTH S URUIRT Haid aig Reg HasT.
TR U139 e UToar giiemar TR U ............ SRR

A.gHdrd
EAECANIG]



C.Yrdcild

D.q9did

Answer: EAECANIG]

Reference 1D:(34902) TR21x12=66,8x13=42 30111 x19=60,TW4x3 ="

A1
B.12
C.7

D.14

Answer: D.14

Reference 1D:(28627) Pick the right idiom which fits into the sentence: | reached my son’s school
before the annual day could start.

A.At a stone’s throw
B.At sea
C.In the nick of time

D.Through the nose

Answer: C.In the nick of time

Reference ID:(17112) Wit Jafd 18T gatg HIorr 3g?

A.350 I 70%

B.1300 =T 1/4



C.0.15 x 1500

D.700 dT 2/5

Answer: B.1300 dT 1/4

Reference 1D:(32445) URIG ferTeag udaiare! RHTer’ § 1d HIvl M 3Td 3182

AZTS
B.UTHd
cf&dt

D.T¥hd

Answer: D.T¥hd

Reference 1D:(18963) JTATd YeaTal AN / JHNY TDHR 3.
BT

A HTIHG

B.HHYRY

c.fa

Answer: B.pHURY

Reference 1D:(27384) Identify the figure of speech in the following sentence: The moon played hide and
seek with the clouds.

A.Personification

B.Euphemism



C.Apostrophe

D.Hyperbole
Answer: A.Personification
Reference 1D:(30378) Find the meaning of the highlighted word in the sentence: Somehow he always

manages to outwit his opponents.

A.Protect
B.Assist
C.Clear out

D.Outsmart

Answer: D.Outsmart

Reference 1D:(19471) TYTd feciedT TR IR aT0R 3RIcId aidd YA 3ieswdl. HHETd Jrasol

A TUTARHIT dTe e Tad (el W bd Hew! G el d d SR ausd.
B.feefiom 3muer 2 TeUTe SEd Ub s gl

C.RIA1 ¢ 3T fH3TS -uaTar Saaud BR Jax HEd b g aradd gid.
D.fCaTdmRaR Sraid davd ol SHATIOT et JaTd RIS srcal @d aried

feaTeh el SIawT HEd AU R! el g,

Answer: D.feaTeRar Srycd dard dol SNT0T AT HardT RIS ! el W arded
faaTehvel ARl HETd IS RIRG! Al Bl

Reference ID:(25151) qHgeRI® Xeg o dl. S T I a9l QIS ...

ATTE



C.dIh]

D.SHId

Answer: B.Ihdl

Reference 1D:(19952) geId faUmTan St =01 9 a1 Ug1g i
HIADIUTETRAT TRIETAT BR SR RIS IRl JErd FiRiided. A
TETST -1 UTgU! 3Ta ST Tadx ol 3118 3 YN STl JHUIN AR .

dogT AT [UTaTS 24T HAT 3T -

AATd FIISTs BTl YTl ares]

B. S YId S hel
C.7 sk IR IHaR

D. 5T G5 BRI

Answer: C .7 oA IR IFaR

Reference 1D:(24162) WU ATHRUM T8 YG eg-cRa- SRIIdT Xeg ST,

A ggaid
B.gYfard

C.gYférd
D a1yeie

Answer: C.gyfard

Reference 1D:(18709) TS 2T AT, a1 I BIes HIvIdT?



Answer:

Reference 1D:(22563)

Answer:

AT Y DT
B. 18T o H T

C.q0 YdPhId

D. T Hi a1

A STYT DTS

WTeitcte! gafd d8™ yaty BT 318 2

AbS5+11-75+42-62-13+45+27
B.118 +17-25+32-126 + 104 - 44 - 37
C.79+42+165+42+36-103 +45 + 17

D.38-107-25-32-26+104 +144 -7

AS5+11-75+42-62-13+45+27



